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Integumentary system
-Name the largest organ in the body ?
Skin
-Name the two layers which make up the skin ?
- Vascular: Dermis
- Avascular: Epidermis

-Match types of skin accessory organs:

sweat gl protection
hair and ndils secrete oil
Sebaceous g thermal homeostasis

Cardiovascular system
Match the following:

I- Right heart Oxygen- rich
blood

2- Left heart Oxygen -poor
blood

-3- erytheopiosis mitral valve

4- bicuspid valve RBCs formation
in bone marrow

5- Fibrin Blood Clot

Draw arrows showing the blood flow in the heart on this

diagram
| ) What are types of agranular Leukocytes?
( neurtophils, basophils, eosinophils, monocytes,

Iymphocytes)

2) What are types of granular leukocytes?
( neurtophils, basophils, eosinophils, monocytes,

lvmphocytes)
-Put a,b.orc a) vein or venule, b) artery or
arteriole ¢) Capillary

e
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Digestive system
Tick the accessory organs in GIT: (pancreas, small intestine,
liver , pharynx, gall bladder).
Tick items help in mechanical digestion: (ieeth, esophagus,
bile, stomach wall, pancreas)
Match the-componciits of gastric juice and pancreatic juice:
- mucous , HCI | enzymes

- Bufter, Enzumes

Where dﬂei_digéﬁﬁﬁﬁarhoh}'drates.. fat and proteins
begin 7

Carbohydrates: mouth

Fat: stomach

Proteins: mouth
Match:
Emulsification Produced in liver and stored
in gall blad A
Chyme-~_ i digested food in the stomach
Bile breakdown of fats
Peristalsis secreted into the duodenum
Pancreatic juice and bile contractions in smooth

muscles in GIT
Match for digestive enzyvmes :
Lingual lipase, gastric lipase, pancreatic lipase
proteins
Salivary amylase, pancreatic amylase, maltase, lactase, sucrase
lipids
Pepsin, trypsin, aminopeptidases, dipeptidases
carbohydrates
Say whither True or false:
-Digestion of proteins gives monosaccharide. ( T [ F )
-Digestion of polvsaccharides gives ammo acids. ( T /. F )
- Intestinal mucosa develops villi, microvilli for rapid absorption

(LF)
- Pepsin is produced in inactive form called pepsinogen. ( T/ F
)
Nervous system
Choose:

- The junction between two nerve cells is called (synapse -
myelin sheath — neurotransmitters).

-(synapse — myelin_sheath — neurotransmitters) is made up of
specialized glial cells known as Schwann cells .

-(synapse — Schwann_celS” — neurotransmitters)are stored in
small synaptic vesicles clustered at the tip of the axon terminals.
-( sensory neurons, motor neurons, Interneurons) connect

CAMOINYTYY S !-'I'I"‘IFq. Ty YT I T RS I l‘hr’-" FF"FTPE
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small synaptic vesicles clustered at the tip of the axon terminals.
-( sensory neurons, motor neurens, interneurons) connect
sensory and motor neurons in the reflexes.

-(dendrites, axon) transmit signals towards the cell body,
whereas (dendrites, axon) transmit signals away from the cell

body e

Match the correct function:

1-Afferent or-Sens transmit information
AWAY f_;[m;r‘l:e ;

2-Efferen transmit information
TOWARD the CNS

3-Brain W controls skeletal

muscles (conscious)

4-Somatic Nervous System: receives.
interprets and sends messages
S5-Autonomic Nervous System controls involuntary

muscles (unconscious, homeostasi

TR

6-Sympathetic controls activities
that conserve energy
7-Parasympathetic controls activities that

consume energy
Match for brain parts and their functions:

Brain stem Centers for rely sensory information and motor responses
Diencephalon Regulates heart rate, breathing, and blood pressure

Cerebellum  leaming, remembering. thinking and planning

Cerchrum  pgyintains muscle tone, posture and balance

Immunity and lymphatic system
Sav whither True or fake:

1-T and B lymphocytes are involved in non-specficimmunity. (T / F )
2- Acquired immunity is iniliated afler exposure lo a specficantigen.(T / F )
3-B- lymphocytes are the cells which produce antibodies . (T | F )
4-Saliva, stomach acid, skin are components of acquired immunity(T / F )
5- Passive immunity is induced by vaccines(T / F )
6-Lysozyme presentin saliva andlears is involvedin surface bariers.(T / F)
7-Complements are involvedin 2nd line of defenses (T / F )
8-1gE playrolein allergy. (T / F )
9- Cell mediated immunty is monitored by antibodies.(T | F )

10- The advantage of active immunity is to obtain memorycells. (T / F )
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Reproductive system

Match rhew
Leydig cells nourishment and final

maturation of sperm

Sertoli cells :Produce testosterone
Spermatogenesis Formation of eggs
Oogenesis Formation of sperms
—

Sperms prnduceﬂ:ﬁ’f":_—_/ discharge of eggs from
the ovary

Owulation Semineferous tubules
Graafian follicle The mature follicle ready to
ovulate e

Implantation It is the site of fertilization
Fnllnpiz}ﬁuhes : Occurs in the uterine
endometrium

Progesterone cause changes to the endometrium

of the uterus and the appearance of the menstrual flow

Estrogen Stimulates the male
secondary sex characteristics S
Testosterone Stimulates the female
secondary sex characteristics o

LH stimulates the-growth of the
follicle into a mature follicle -
FSH: Causes the mature follicle to
ovulate T

Urinary System

Complete:

-The functional unit of the kidney is -------Nephiopr---mmemmeeeeem-
-Renal capsule 1s composed of: —--—- Bauman capsule=-- -------
Clumorulus---------

-Renal tubule is composed of: —---PCT-—-, -—-- Loop of Henel--
-------- DCT--------

Match for the reabsorption process:

Aldosterone increase blood volume
and blood pressure

ANP and BNP reabsorption of sodium
1ons

ADH decrease urine volume

Pui T/ F:

o DI .  RELAECI BE  CNRE  F [L ORRe. DI LT T PR R |, LIS L e N DR et L [
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Homework : Introduction to Biology

Match the characteristics of living things:

Heart h_______‘__E‘T:m'I comEtant i|1r‘|-.153| enmviranment

Eukarvodes

. Fufigrentae, Anuaha

Homisostasis { plala ;150
. Oirgan system level
Cardiovascular system FER 2Y
{heart+hlood vezaels+ Blood)

—I—._'_'_'_

smallestusitoftite

cell

Complete the following:
- --Biology--- is the science studying the living organisms.

-Taxonomy (—aiaill ale) means classification of organisms into
groups according to their (similarities ~ colors).

Biological molecules I (Carbohydrates and Lipids)

-Match the types of carbohydrates with their examples

single sugar molecule Az ‘.‘I|_¥'L'Dj,.f\'l1. starch, cellulose
two manosaccharides unils As glucose | nictose | nbose, palsctose

{= 10 1o thousands monosaccharides units Az Laciose | sucrose, maliose

Write down how to make:

-Lactose:-—--Glucose -~——-- + -———-—galactose----

-Sucrose: ------ Glucose ----- t—— Fructose---------
-Maltose: ---- Glucose ----e-vn- t e Glucose =emmmmem-
Complete:

-Dehydration reaction includes (formation of bonds—breaking
bonds)

-Hydrolysis reaction includes (changing polymers into monomers—
changing monomers into polymers)

-Lipids (do---- donot) make polymers.

-Match for examples of lipids and their structures:
a- Triglyceridis {fais and 0ilsjr—rrrreeerermrmee e, 3
b- Phospholipids (Ex. cell membrame e 2

c- Steropds { As cholesterol, some  BOTmones J--—-—--———-—-—————— 5
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-Match for examples of lipids and their structures:

a- Triglycerides {fats and oils) 3

b= Phaspholipids (Ex. cell membrame joees e mmmecicanaas 1

c- Sterosds { As cholesterol, some hormones)--——-——mmmrmm - —5

d- Backbone of triglycendes----

o =

fatiy moids | @ : Have 3 fatry acids " Four fused rings
L b P - TR Y Pl
e siruciure
k i b H
: — 5 = e & .u_.;:
, [ — S S © &
2 3 R e © &
Have 2 fatty :
Iycerol
acads PO BAYEE

(Biomolecules II (Proteins
-What is the name of the bond present in a protein? —Peptide—
-What is the monomers (43l Slasg) of:

; {,'?jrbcrhydmtgiq_ B amino acids
-Lipids T—__ _glucose

! RN/ T
.ENI“«U"I;j RNA —<__hone
-Proteins nucleotides

-What is the role of enzymes as catalysts | bas 7

- make the reaction much more (quickly --- slowly)

-facilitate the reaction without being (changed ---- unchanged)
- rely on its (shape --- size) to function properly

-cach enzyme is (specific Lawasis --- non-specificjawasis ;e ) for
a specific substrate(=ile liis)

¢ or Fal

- Heamoglobin is an example of tertiary structure (g5(1) of protein
(T4 E )

- Secondary structure of proteins are stabilized by hydrogen bonds (
I/ F)

-The denaturated proteins are active proteins (T /_F )

-All amino acids share the amino and carboxyl group, except for the
R group is different (T /F)

Which of the following protein conformation (,4 ,3 .2 ,1) (Js<5
5)is

-The most complex protein structure ------------- 3
R=-C—CHz units of proteins----—-eeeveeeems l
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Which of the following protein conformation (,4 .3 ,2 1) (J555
S)is

-The most complex protein structure -------------3
R=C =% units of proteins----------------1

o  nal proteins -----—---—----3.4
- Cannot be functional prﬁtclns—------------------ 1.2,

Biomolecules III (nucleic acids)

Comparatively &5,ELlL what are the differences between the two
nucleic acids ?

DNA RNA
Mame | Deoxynbanuclee acid Ribanueleic acid
Sugar [deoxyribose ~ nbose) {deoxyribose - rbose)
HBases: (A.T.C.G ) AL C G
Bond: phospho-di-ester bond Phospho-di-ester hond
shape: 1dmlhluﬂ—---smgl-: stranded jj{double helix —-single stranded)
Complete:

-DNA 15 a polymer of units called ---nucleotides-----
-a nucleotide 15 composed of: ----basg----+ + ==au SUgar---+ -----
phosphate group-
- In DNA synthesis, leading strand ( $1all) proceeds (continuously,
discontinuously) but lagging strand( ,AGL1) proceeds (continuously,
discontinuously)
- Okazaki fragmcnt:: {*,S |_';.|5_,| alad) found nn[}' on ---lagging----
strand.
- . Each core histone with its associatedoslall DNA is called ----
nucleosome---------

ATP- is an energy molecule, powers all cellular activities--— -

() The difference between the two sugars in i -DNA T )] o ot Ll o 20 e g 1

DMA and RNA s the missing of ome o8y gei— s =] ladloa .l Gdlas
atom

» Pll-—--n' R Y

CRCE L gy aH T P

- il v \

Emoxyribons (i DHA] DS (0 FRA)

. ——m—— 'l

O Match then arrange in ascending order
o b

Farrarpro SRV DLV,

Nosleaoms - What would be the
g = _*_? = complementary Jasl| DNA
4....'.'.7;5;:.,._ - - Etrand fu: the following DNA

I.lu._'l.i'._il | _‘_:’Td_ Jranes
s e TS g NNA SO GTATG -
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3-Actin is an example of intermediate filament. X

4- Microtubules arrangement in cilia and flagella is nine triplets but
centerioles is 9+2 structure X

-Match the structures in the figures below with the correct
description

‘ . | Microtubales move chromosomes duning ccll dirvision

A prokarvotic cell

The genetic matenal 15 stored in nucleond

Lysosomes digczlimgmytw-:sdﬁ fid

Hixs pores on its outer membrane and stares the genetic

hl .l'll'-l ! ‘ g materal
-!9 : Howim
Food wecusle

Ribosomes

Protems factones

v

Composed of mine iriplets of microtubules arranged in
HHIETS daad

Biological membranes

Match the correct definition 8 25 @

Fluid mosaic model chooses what may cross
saauthe membrane

Semi-permeable (ili wul) Phospholipid bilayer
embedded esis with mobiledS,ais proteins

Integral proteins (ilslS5a 2l ) surface proteins

Peripheral proteins (il SliGs )  trans-membrane proteins
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Integral proteins (4lel5hs &Gy 5) surface proteins

Peripheral proteins (i) olils )  trans-membrane proteins
glycocalyx glvcoproteins and
glycolipids

~Which part of phospholipid is Hvdrophilic or hydrophobic?

- Hydrophilic fatty acids (tail)
- hydrophobic phosphate group
(head)

Fill in the following table for types of transport in the cell

membrane
Type Simple Diffusion| Osmosks |Facilitared Diffusion|Active IFAnSport
Direction of High—low [High—slow] High—slow bow — High
Gradients
Llae Energy X x X L
s [nnﬂp-uhﬂ! :h: X W
profein
Example O, CO2 Witer Glucose N+, K+

Fill in the three cases of osmosis:
Movemeni of water|What happened o the cell?

In Hypertonic solution In—snut
i salt solufion) .

Shrinks and shrivel v
In Hyvpotonic solution ot — Im

(distilled water)
H.\iwuilun and harst

I Isotonic solution R
- ﬁ_\'urm_g]/”
Match : p

//

- Exocytosis vesicles move particles
into the cell

- Endocytosis vesicles move particles
out of the cell

- Phagocytosis vesicle brings water

containing substances into the cell

- Pinocytosis vesicle brings large mass
of mutrients into the

€ In the figu LBt pump) . O This figure shows two processes occarring inside the cell.
what are A g Deseribe them . Pat 1,2, 3.4

=+

B= Ma=

]
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e

Q: In the fig wor®, Bt pumip) . 0 This figure shows itwo processes occurring inside the cell.
what are A and B

Tissues: Epithrelial /connective /muscular /nervous

Choose the correct answer:
- Simple epithelium acts for (diffusion, protection), whereas
stratified epithelium acts for (diffusion, protection).

-What is the gland that release hormones into the blood without
ducts? (salivary gland, pituitary).

-Salivary glands and sweat glands are examples of (exocrine,
endocrine).

-Cartilage has cells called (osteocyte, chondrocyte) and (gel-
like, solid) matrix.

-Bone has cells called (osteocyte, chondrocyte) and (ossified,
liquid) matrix.

Match the figure with its correct description:
-Single row of flat cells

-Single row of cubical cells

- Many rows of cells. The surface cells are squamous
-Many rows of cells. The surface cells are distensible

-Single row of columnar cells.Nuclei are located
at different levels

-Match for types and examples of cartilage:

RS Tl S T SR -m'
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-Match for types and examples of cartilage:

Hyaline cartilage = "t

Elastic cartilage

Fibro cartilage

-Fill in the characteristics for each tyvpe of muscle

S

e

T"-'l"f'l'

e
e
X

IN|

Skeletal Cardiac Smuooth
Location Attiched to bone] Heart  |Blood vessels, internal organs
striations i v X
Control voluntary involuntary invaluntary
nucleos multinucleated [One nuclews) Oine nucleus
branching X X X
miercalated X W X
discs

4G

STC I

-What is the nerve cells function in communication called? --
-=Neurons-———

-What are the supporting cells of the nervous system called?
---Neuroglia-

-Put the three main parts of neurons:

Dendrites

Cell Body

Axon
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Fill in the difference between Mitosis and Mitosis:

Vcinsis Mitosis |vitference

{body cells,  germ cells) (body cells . germ cellsjOccurrence

i3 Adh) 123 AG)Ne of chromosemes
{dipload,  haplaidy {dlijabiad, haplowd Cell tvpe
4 2 i4 ZHNwe ol cells

[Genctic uq:ﬂ!lptn:iliun
{ Mentical, pot_identical]  ( Idenneal. not identscal)

-‘-\-""‘--\. —
Yes 7 Np Yes / NojCressing over

Grrowth and llcpqlﬁng tissuc M Growth and pEFh:li.rJﬂF frssuc? [purposc
TProducing gameles Preducing gameles

Match for the cell division stages

—— Amaphasze ; chromosomes move to the pales of the cell
L ¥ ? )<

wrnmrr ean

Prophasc: muclear membrane disappears, spindle appa

w

"'"";"n,,_,,_ C}lnﬂin:';j:?ﬂﬁiiim of the cytoplasm resulting in 1w

Y

STC I

oy Telophase : chromosomes are in two equal groups, clewvage furmow appeared

@ 9
Inheritance

A colour- blind male will has the following genotype
2 XCY
b XY

“The genetic composition of an individual™ is called

a. genotype.
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T T|:|-:5P|1.1.\-|: : chrotsasomes arc in lwo r|'.|:.|..1! ErOAfs, 1.'|r|:u'.'u.5|: furrow .:||.‘rg'rc.1hc\d

Inheritance

A colour- blind male will has the following genotype
o X%Y
b XY

“The genetic composition of an individual™ is called

a. genotype.
b. phenotype.

¢ karyotype.
CytoKinesis means ........cccovviinniriiiiecaninns
a. Division of nucleus.
b. Division of cytoplasm.
c. Division uf‘tl:‘rﬁ:){
A colour- blind female will has the following genotype
XY

- XL‘XE :?_}__\__:

a—

Each trait is controlled h;
a.One gene.

k. Two genes.

One girl have wavy hair, this phenotype indicate that her
hair trait is D

.. Dominance.

b. Incomplete dominant. A

il
E]
]
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Gene expression

Match:

Transcription DNA to DNA
Translation DNA to RNA
Replication RNA to protein
RNA polymerase synthesizes 2 DNA
copies

DNA polymerase synthesizes mRNA

-What would be each three nucleotides on mRNA called? -------
Codon--

-In translation, what is the :
start codon; ---AUG=----
stop codons: ---UGA, UAG, UAA, -

-Which amino acid is encoded by start codon ? ----Methionine---

-The anticodon on the tRNA of amino acid valine 1s GUA. What
will be the corresponding nucleotides on the coding DNA
strand?

CAT
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